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Formula: 

1. Interest = 
𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙×𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒

100
 

 

2. Principal = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒
 

 

3. Rate of interest = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙×𝑇𝑖𝑚𝑒
% 

 

4. Time = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙 ×𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡
 

 

5. Amount = Principal + interest 

  

6. Principal = Amount – Interest  

  

7. Interest = Amount – Principal. 

 

 

 

 

 

 

 

 



Word Problems 

1. Sohel Borrowed 800 Taka from a bank and paid back 856 Taka in one year 

time. What was the annual interest rate? 

Solution: 

Given,  

          Principal = 800 tk 

           Amount = 856 tk  

           Time = 1 year  

   Interest = Amount – Principal 

               = (856-800) tk 

               = 56 tk 

We know, 

Rate of interest = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙×𝑇𝑖𝑚𝑒
 

              

                                   = 
56×100

800×1
  

                                   = 7 tk  

         Ans: 7 tk 

 

2. Amina borrowed some money from a bank with an annual interest rate of 5% 

and paid the annual interest 30 taka after 1 year. How much was the principal? 

Solution:  

              Given, 

                         Rate of interest = 5% 

                         Interest = 30 Taka 

                         Time = 1 year 



             We know,  

                              Principal = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒
 

 

                                             = 
30×100

5×1
 

                                             = 600 tk 

                 Ans: 600 tk 

 

3. When we borrowed some money from a bank with an annual interest rate of 

8%, we paid the annual interest 600 Taka one year later. How much was the 

principal? 

Solution:  

               Given,  

                          Rate of interest = 8 % 

                        Interest = 600 tk 

                        Time = 1 year 

We know,  

                  Principal = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒
 

                                 = 
600×100

8×1
 

                                 = 7500 tk 

         Ans: 7500 tk 

 

 

 

 

 



4. If Jashim borrows 200 taka from a bank with an annual interest rate of 6%, 

how much money will he be paid bank in one year? 

Solution: 

            Given,  

                       Principal = 2000 tk 

             Rate of interest = 6 %  

                             Time =  1 year  

        We know, 

                         Interest = 
𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙×𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒

100
 

                                      = 
2000×6×1

100
 

                                      = 120 tk. 

He’ll pay back in 1 year = (2000+120) tk 

                                        = 2120 tk 

          Ans: 2120 tk 

 

 

5. Puja borrowed some money from a bank with an annual interest of 12 % and 

paid the annual interest 1680 Taka one year later. How much was the principal? 

 Solution:  

                   Given,  

                               Rate of interest = 12%  

                                            Interest = 1680 tk 

                                                Time = 1 year 

 

 



  We know, 

                  Principal  = 
𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×100

𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒
 

                                  = 
1680×100

12×1
 tk 

                                  = (140 × 100) tk 

                                 = 14000 tk 

           Ans: 14000 tk 

 

6. Tanima borrowed 2000 Taka from a bank for 3 years and an annual interest 

of 6% is always charged on the principal. How much Taka will she pay back in 3 

years’ time? 

Solution: 

               Given,  

                          Principal = 2000 tk 

                          Time       = 3 years 

                Rate of interest = 6% 

We know,  

                   Interest = 
𝑃𝑟𝑖𝑛𝑐𝑖𝑝𝑎𝑙×𝑅𝑎𝑡𝑒 𝑜𝑓 𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡×𝑇𝑖𝑚𝑒

100
 

                                = 
2000×6×3

100
 tk 

                                = 360 tk 

 

 

 She will pay back in 3 years = Principal + Interest  

                                               = (2000+360) tk 

                                               = 2360 tk 

            Ans: 2360 tk 



Exercise (Do yourself):  

1. Some money borrowed from a bank with an annual interest of 15% and paid the 

annual interest 1680 taka one year later. How much was the principal? 

2. 15000 taka borrowed from a bank for 5 years with annual interest of 8%. How 

much taka should pay back 5 years later? 

3. 50,000 taka was borrowed from a bank, and 98,000 taka was paid back 8 years 

later. How much annual interest rate was charged on the principal? 

 

 

                


